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import warnings

warnings.filterwarnings ('ignore')

import pandas as pd

import numpy as np

import matplotlib.pyplot as plt

from
from
from
from

from

IPython.display import display

sklearn.datasets import load breast cancer
google.colab import drive

sklearn.model selection import train test split

sklearn.linear model import LogisticRegression

np.set printoptions (suppress=True, precision=4)

pd.options.display.float format = '{:.4f}'.format

pd.set option("display.max columns",None)

plt.rcParams|["font.size"] = 14

random_seed = 100

G I A N A N N N N AN N N A N N

XY —REHEOLQ%
googlecolaboratorylZBEY {FFTHEITT
BDERMFE DHBRNRTSINTT




KRRISBD L TH &5+ —R RO

4 FF F O FFE O HEHE S T2ty k # 4 FF F F o # O FE O HHEHEHEH S
cancer = load breast cancer() HEET—420O0O—F
df = pd.DataFrame (cancer.data,columns=cancer.feature names)
y = pd.Series (cancer.target)
x train, x test, y train, y test = train test split(df, vy,
train size=0.7, test size=0.3, random state=random seed)#F&E LHEMAICETNTNT—FZHI1T5
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algorithm = LogisticRegression(random state=random seed) #7 /LI XLICAT AT 4 v EIFEEER
algorithm.fit (x train, y train) #FEZEE
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x _pred = algorithm.predict (x _test[0:5]) #¥if — 2D EMS5DITx LHEREEE

display(x_test[0:5])##imLI=T—2 #&KK
display(x_pred) #¥fim LI=fER R~
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